
6- Pulsus tardus is found in ?

A-M itral stenosis

B- Aortic valve stenosis

C-Aortic regurgitation

D-M itral regurgitation

7- lvP waveforms reflect pressure changes in which of the following cardiac
chambers ?

A. Right atrium

B. Right ventricle

C. Left atrium

D. Left ventricle

8- The wave produced due to atrial relaxation is ?
A.a

B.V

c.x
D.y

9- Reversed splitting of 51, may be present in patients with ?

A. Severe mitral stenosis

B. Left atrial myxoma

C. Left bundle branch block
D. All of the above

10- Murmur of HOCM becomes Iouder with ?

A-Standing

B. Squatting

C. Passive leg raising

D. All of the above

1l-Acute, severe MR from papillary muscle rupture accompanies
A. lnferior Ml

B. Posterior Ml

C. Lateral Ml

D. Any of the above

72-ln mitralstenosis, which of the fotlowing is more reliable as an index of
severity of valve obstruction ?

A. Loudness ofSl
B. Character of murmur
C, Duration of murmur
D. lntensity of murmur


